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=274

23 HIIE/2) 48.4 56.7

SIEAREXI(F /2 63.0

22X M T (cm) 76.4 52.8

MIXtel el 21(m) 286.8 229.2
22

20m 28] 7](x): 1/100 3.277 3.666

50m €8] 7](x): 1/100 6.798 7.816

A2 BFE2AIZ2H=E): 1/1000 0.261 0.259
OlEy gl BES AIZ2H=E): 1/1000 0.299 0.323

AOIEAEI(S]/2022) 47 .8 42 .2
Had s410 AL AIN(=X)

ool 222402 =Z0|J|(cm) 19.0 22.3
2o H==2(cm) 60.6 56.9

SFKI & Z I 2H(e) 146.5 155.0

IH & 2(co) 6,037.9 4112.4

B FEV1/VCH] E-&-(%) 7.7 87.4

AlH X 2 e

OIHE KXl == 91.1 91.6

OFH Al AlEt=(3I/2) 76.9 73.0




2 Qol 2l =X st2- =&k
(- -/ L =< 1O O M O
HEEZ
HOH| &
=P\; DN} (%)
XA Z2(%BW) 277.7 262.8
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